AQ Ag NEW SPECIMEN PAPERS
PUBLISHED JUNE 2015

GCSE
Mathematics
Specification (8300/2F)

Paper 2 Foundation tier

Date Morning 1 hour 30 minutes

Materials

For this paper you must have:
« a calculator
+ mathematical instruments.

Instructions

« Use black ink or black ball-point pen. Draw diagrams in pencil.

« Fillin the boxes at the bottom of this page.

« Answer all questions.

« You must answer the questions in the spaces provided. Do not write
outside the box around each page or on blank pages.

e Do all rough work in this book.

e In all calculations, show clearly how you work out your answer.

Information

« The marks for questions are shown in brackets.

« The maximum mark for this paper is 80.

« You may ask for more answer paper, graph paper and tracing paper.
These must be tagged securely to this answer book.

/" Please write clearly, in block capitals, to allow character computer recognition.
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Answer all questions in the spaces provided.

Which of these numbers is one more than a multiple of 57
Circle your answer.

[1 mark]
15 19 26 30
Which of these numbers has exactly three factors?
Circle your answer.
[1 mark]
/\ 7 X /1NN
V3 Uy S S
Which of these numbers is 6 less than —1.47
Circle your answer.
[1 mark]
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Circle the correct letter!

shape X?

Counnl_ [1 mark]
X
A
C
Turn over »
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5

The map shows the positions of two ships, A and B.

Scale: 1 cm represents 2.5 km

«B

Work out the actual distance between the ships.

[2 marks]
Y« 1y = 2\2§
(2%~ )
Ly 7
Answer DA R km
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6

A gym has 275 members.

£40% are bronze members]
: 28% are silver members. j

The rest are gold members.

Work out the number of gold members.

[3 marks]

Turn over for the next question

gm:)_g.___qo\(a \‘-Q‘.Q 1Y .3,:-\5 \\ O
i - ANOO
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Turn over »
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7 (a) Alanis looking at number machine problems.

+3 " -5

He says,

“If | know y | can work out x.
| subtract 3 then | add 5.”

Does this method work?
Give a reason for your answer.

[1 mark]
c
1as . Vecod@ oSar Qeorn e
7 (b)
X3 » +5
He says,
“If | know d | can work out c.
| divide by 3, then subtract 5.”
Does this method work?
Give a reason for your answer.
[1 mark]

No  decere ofac A&a
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8 (a) Sove 5wA1=24 NS
, [2 marks]
T = ¢
y =3
) W o=\
——
8 (b) Write an expression for the total cost, in pounds, of
x jumpers at £15 each
and
y shirts at £12 each.
[1 mark]
%T =\ §ﬂ— A\l
J
Answer'&v = %5 xr A \1y
J
8 (c) Simplify X+x+yxy
[1 mark]
2
Answer L-)C_. A :-}
Turn over »
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9 Lucy says,
“3is odd and 2 is even,
so when you add a multiple of 3 to a multiple of 2 the answer is always odd.”

Is she correct?

Write down a calculation to support your answer.

\&\@‘:?Qm e% % A \-\q@.“w@l '% L [1 mark]
| o AN = \©
% 9 '\- ! = \4
T ronesST — Qag& eC Qs onsadal
10 Tom earns £9.20 per hour.

He works for

24 hours each week_

48 weeks each year.
He pays tax if he earns more than £10 000 per year.
Does Tom pay tax?
You must show your working.

[2 marks]

CWaa oy QAlo w2y A 2L20.-YO

'fm‘QG_ N o« 212050 = \OTAYYYO

’“EQ_( ’YQ\-L_ f\w.tj( "(‘u\"\!\ y
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Three boxes contain counters.

Box A

Box B

Box C

There are 62 counters in total.
C The total number of counters i

i_ The difference between the number of counters in box A and box C is Sj

n box A and box B is 34]

Work out the number of counters in each box.

[3 marks]
T S ~ C = i
(" P
s - 1\1\‘
P o
\Q \§ l—% .
Box A \Q Box B \\’ Box C l—%

Turn over for the next question
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12

12 (a)

The pie chart shows information about the sales of 800 tickets.

There were twice as many adult ticket sales as senior ticket sales.

Ticket sales

Not drawn
accurately
Show that there were 140 senior ticket sales.
[3 marks]
FO 4 Ll gas '\‘iﬁ-“-&
30 g
to ®
3} S\‘q‘(q‘ = (073\(..)_-2_ = \\O (,SE&ESJ!C‘!
YOO LY (a0 &)
\49O - = 4
R — - AN
INVS . AvS %L\QQ)
‘__-==-
g O
YOQ
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12 (b) Draw a bar chart on the grid to represent the child, adult and senior ticket sales.

[4 marks]
Ticket sales
wWo
1]
f
3 ]
o, { “
A S
250
o0
Turn over »
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13 Alice makes cards.
Each card uses 42 cm of ribbon.
She has 1000 cm of ribbon.

13 (a) Work out the maximum number of cards she can make.

[2 marks]
WO L W)Y = 23.%¥0_%™
Answer 1—%
13 (b) How much ribbon will be left over?
[1 mark]

L]

Answer C. YO S_L?) cm
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14

Luke saves 10p coins and 20p coins.

He has
(,_ three times as many 10p coins as 20p coins':l
\ atotalof£17 = oo |

How many 10p coins does he have?

i

[3 marks]
\C o 1 Q o
1?,(
.50 N\ lQQ\_ = YOQ N\
\O 1O X QYS = \-\CD(‘)
B S SN SRS
Answer \O)L.
Turn over for the next question
Turn over »
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15 A company has bikes for hire.
The cost, £C, to hire a bike for » days is given by the formula

C=12+ %(nq)

156 (a) Write down the cost to hire a bike for 1 day.

[1 mark]
Answer £ L -
15 (b)
Special offer
Hire a bike for £9 per day
Is it cheaper to hire a bike for 7 days using the special offer?
You must show your working.
[2 marks]

Sl @ac e - £\

Cq-m\)Q.u\ = C =\ o }7:' k‘(o)
= AL N ST

a:é TL‘ T C S ax =
~
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16 (c) The graph shows the cost to hire a bike for one to five days at a different company.

A
40 1
’ --:ﬂ'
30 )
Cost, - :
£C 52
20 <
10 L
0 =S
0 1 2F 3 4 5

Number of days, n

The cost, £C, to hire a bike for » days using this company is given by the formula

C=a+bn-1)

Work out the values of @ and b.

- xc\.g_(otr\-\)
ﬂ_ _ \ -\(O.,.Q(

[3 marks]

Turn over »
Version 10 8300/2F
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